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Instruction : This question paper contains 13 questions. All questions are compulsory.

Q-2

Q-3

Q-5

Q-9
Q-10

Answer the following questions as directed : 5
(Each question of 1 mark)

Choose the right answer :
Which right is considered as a soul of constitution by Dr. Ambedkar ?
(A) Right to Freedom (B) Right to equality
(C) Cultural and Education right. (D) Right to Constitutional remedies.
Who said the following line :
“Freedom is my birth right and | will achieve it any how”.
is the rank of India in terms of area in the world. (3, 7", 5")
Write true or false :
Vice President is the chairman of Rajyasabha.
Answer in short :
Who presents the Bill in house of parliament ?

Answer the questions point wise. 10
(Each question of 2 marks)

Why did Gandhiji Call Rowlatt Act as “Black Law” ?

Why do we need fundamental rights ?

Give Reason : Rajyasabha is the permanent house.
OR

What is the procedure of impeachment ?

How many peninsular plateaus are there ?

India shares its boundary with how many countries ? Give their names.
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Q-1

Q-12

Q-13

Answer the following questions in brief :
(Each question of 3 marks)
Write about the following foreign revolutionaries :
1. Lala Hardayal
2. Madam Cama
3. Madanlal Dhingra
OR
Write short note on Jallianwala Massacre.
Explain the fundaramental duties of Indian Citizen.

Answer the following question in detail :

Explain the qualification and power of president of India.
OR

Write a note on speaker of Loksabha.
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1 1
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©) x+5y-2=0 (D) O0x +5y =-2
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L1+ L2+ /3= ’
(A) 360 (B) 90
(C) 120 (D) 180
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|SECTION - A

® Select the proper alternative from the given to make the statement true. (Each 1 mark) [5]

Q.1:  Find the zero of polynomial 2x’+7x — 4 is

@2 ® ; © 3 D) -2
Q.2:  The probability of growing rose on a lotus plant is

@wo  ® ;5 © 1 O) 5
Q.3: Forpoints (3, —-5) is located on y- axis.

(A) 3 (B) 5 € -3 (D) =5
Q.4:  Forthe equation 5y =2 express it in form of linear equation.

(A) x+5y=2 (B) 0-x +5y—-2=0

(C) x +5y-2=0 (D) O0x +5y ==2

Q.5:  Answer the following from figure.
L1+ L2+ /L3=
(A) 360 (B) 90
(©) 120 (D) 180

SECTION -B
e  Calculate the following question : (Each question of 2 marks only) [10]

Q.6:  Find the Value of polynomial P(x) =2 + x + 2x—x’ atx = 2

Q.7: Ina Cricket match, a batsman hits a boundary 6 times out of 30 balls he
plays. Find the probability that he did not hit a boundary.

Q.8:  Locate the following points on the Cartesian plane (Where (¢ €R) )

(I) (Oa a) (11) (aa 0) (111) (_ a, 0) (IV) (Oa - a)
Q.9:  Find the value of & for the Equation 2x + 3y = k where x =2and y =1

(1]



Q.10 : From the given figure calculate the value of x & y

| SECTION - C |

e  Calculate the following question : (Each question of 3 marks only) [6]

Q.11 : 1500 Families with 2 children were selected randomly, and the

following data were recorded.

Number of girls in a family 2 1 0

Number of families 475 814 211

Compute the probability of a family chosen at random, having
(H 2 girl (1) 1 girl (111) No girl
Q.12 : Produced to points S and T respectively. If ZSPR=135" and ZPQT =110".

Find £PRQ
S
P
135"
110°
T Q R
SECTION -D
e  (Calculate the following : [4]

Q.13: (a) Find the roots of the Equation 4x + 3y =12
(b) Using suitable identities calculate value of (99)’

(2]



	001-Std-9  SOCIAL SCIENCE-Gujarati
	002-Std-9  SOCIAL SCIENCE-Hindi
	003-Std-9  SOCIAL SCIENCE eng
	004-STD-9 Maths-Gujarati
	005-STD-9 Maths-Hindi
	006-STD-9 Maths-English

